 SEQ CHAPTER \h \r 1t-test practice

1.You give two different groups of students a reaction time test. One group is men, the other women. Are men’s and women’s reaction times different? 

H0   =

HA = 


Men’s reaction times

Women’s reaction times



2.25



1.75
2.0



1.90
1.95



1.7
2.0



1.05
2.19



1.82
2.30



1.75
t statistic: (you should get 3.26)
What do you do about your null?

What does this mean about why the samples’ mean reaction times are different?

Describe the error you might be making.
2. Toddlers are rewarded with 2 M&Ms each time they say ‘please’ when they want something. Does this training make a difference in the use of the word please?  You measure how often two different (unrelated) groups of kids say please, one using the M&M training, one without.


H0   =

HA = 



Toddlers with M&Ms

Toddlers without M&Ms

15



12
16



11
10



12
10



10
11



11
12



10
11



9
9



8

Calculate your t statistic (you should get 1.36).


What do you decide about your Null Hypothesis?


What does this decision mean about the population averages that these two samples came from?


Your power for this experiment is .37. Explain what this means.

Describe three ways that you could increase power for the next experiment, and how each one makes rejecting the 


Null Hypothesis more likely.
